SCH4U1

Solubility Equilibrium Calculations

The Solubility Product (Ksp)

For  the general reaction:   
AxBy (s)

xAy+  (aq) +  yBx-(aq)
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The equilibrium (or solubility product) constant is:

For example:
Ca(OH)2 (s)

Ca2+ (aq)  +  2 OH( (aq)
Ksp = [Ca2+] [OH(]2

e.g.1   

a)  What is the solubility product expression for silver chloride dissolving in water?

b)  Given that the solubility of silver chloride is 1.9 x 10-5 g/L, calculate the Ksp value.

e.g. 2

Given that the solubility of lead (II) chloride is 1.7 x 10-2 mol/L, calculate the Ksp value.

� EMBED Equation.3  ���
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